
Economics 12 - Course Notes

Introduction:

A.
Course covers “big” issues; as opposed to micro


1.
Focus is on unemployment and inflation


2. 
Relationship to Business Cycle

B.
Will learn about:


-Fiscal policy - spending and taxation of government


-Monetary Policy - Actions of our central bank (Fed)


-Theories that explain how (and whether) policy works


-Applications to the real world

C..
Current Situation in economy:



GDP = $18.07 Trillion
GDP Growth =3.3% annualized rate


GDP Real Growth = 2.1%



Inflation Rate= +0.2% (OCT)




Trade Gap= -$43.9 Billion (OCT), -$527B annual 


Interest Rates-> FFR = ?, TBond Rate = 2.97 (30-yr.)



Unemployment= 5.0% 



(LFPR = 62.5%; back to level of 1970s)


1.
Explanations for where economy is:



A.
Keynsian, Monetarist, Rational Expectations, RBCT



B.
And growth models


2.
Why take this course:



-Many of the jobs you take after you graduate will require 


understanding of macroeconomy (insurance, banking, stock 


brokers)



-Personal financial position - understanding refinancing a 


house, for instance



-Being a better citizen - will know that 97% of statements made 


by politicians are misleading or simply incorrect

-Lecture 1

A.
Key economic problems:


1.
Unemployment and Inflation - deal with in detail


2.
Unemployment first:



-Can be voluntary or involuntary (examples)


3.
Measurement:
60,000 HHs



-Ask:
working, looking for work, not looking for work



-Invisible unemployed



-Rate = Unemployed/Labor Force


4.
Class discussion - Why in or out of labor force?


5.
Sources of Unemployment



-Cyclical, Frictional, Structural 



A.
Examples:  Textile workers, Rise in unemployment in the 



1991 “recession”, Job changing


6.
What is “Full Employment”

-Lecture 3

A.
Other key economic problem:  Inflation


1.
General rise in price level


2.
Measurement:  Fixed market basket



Ex:
1 loaf of bread
$1.50

$1.60




1 lb. of apples
$1.80

$1.70




1 gallon of milk
$3.50

$3.90







-------

------







$6.80

$7.20


3.
Inflation = 
Change in price

 40






-------------------  * 100 = 
-----  = 0.05*100 = 5%





Original Price

6.80




<<<<Questions>>>>>


4.
Second Example:





CAR = $20,000

$20,500





Food = $10,000

$  9,300





-------------------

----------





$30,000


$29,800



Change in Price/Price = -200/30,000 = .0066 = -.66%


5.
Can be expressed as “inflation rate” (change year to year) or 


index:




       Year
Cost of Market Basket
   Change in P





1

$60









2

$80



33%





3

$100



25%





4

$120



20%



Index:

Must set base period: (set = #1)




       Year
    
Index






1

  60/60*100
= 100%





2

  80/60*100
= 133% 





3

100/60*100 
= 167% 






4

120/60*100
= 200%



Example #2:




       Year

Cost

Index





1

$175

 87.5





2

$180

 90.0





3 (base)
$200

100.0





4

$210

105.0





5 

$240

120.0


6.
Types of indices:



PPI, CPI, GDP deflator


7.
GDP deflator example (early 1980s):




Year

  GDP

Deflator
Real GDP




1982

3166.0B
  100

  3166




1983

3401.6B
  103.8
  3278




1984

3774.7
  108.1
  3492




1985

3992.5
  111.7
  3574


Lecture 4-


A.
Causes of inflation-



1.
Demand-pull



2.
Cost-push



3.
Price expectations


B.
Who is hurt or helped:



1.
Hurt:
Savers and those on fixed income



2.
Helped:
Borrowers (example)




A.
Borrow $5000 for two years




B.
Inflation up 25% over period




C.
Real repayment = $5000*(0.75) = $3750


C.
GDP Accounting:



1.
Market value of all goods and services



2.
Approximately $13 trillion in U.S.



3.
How to calculate:




-add up all expenditures




-add up all incomes



4.
Circular Flow:








Diagram








Income cycle





HH





Businesses








Labor cycle



5.
Expenditure Approach: (ask class)




C = 
Consumption




I = 
Investment (define) - gross, plant and equipment, 




construction, inventory




G = government spending, no transfers




X = exports of goods and services




M = imports of goods and services

Lecture 5:



6.
Then:




GDP = C+I+G+(X-M)




Approximate percentages:  




C = 2/3 of GDP




G = 22%




I = 10-14%




NX = -3-5%



7.
Note:  G is only actual services, not transfer payments 



(like SS)




a.
GDP figures are readily available:





-Economic Report of the President, Council of 




Advisors



8.
Income Approach:




A.
Other side of equation:





1.
Add up all incomes:






-Wages and Salaries






-Proprietors Income






-Rental Income






-Interest Income






-Corporate Profits (?)






 = National Income




B.
+Business Excise Taxes = NDP




C.
+Depreciation (CCA) = GDP



9.
Should be able to construct GPD, NDP and National 



Income from raw data




A.
Bring in EROP DATA

Lecture 6:

A.
Value-added approach:


1.
Iron ore -> Steel->Nail



Timber -> Lumber->Furniture



($100) ->  ($300) -> ($600)


2.
Note:  change in GDP = $600


3.
Value-added:
$100






$200






$300






------






$600


4.
Why use VA method (Europe example)

B.
All three methods should give same result


1.
Bring in DATA

C.
How accurate is GDP?


1.
What is not included:



A.
Non-market items




-Barter, self-produced goods (farmers), “underground 



economy”



B.
Therefore, GDP is under-estimated

D.
Does GDP Measure economic welfare?


1.
When is it used this way? (DATA)


1.
Ignores externalities, leisure

Lecture 7-Business Cycles

A.
Growth in output:


1.
Draw diagram on board (idealized and actual)


2.
DATA on GDP, growth, etc. (1991 in particular)



A.
Peaks = inflation, troughs = unemployment


3.
Measuring cycles:



LEADING:  Stock market, durable goods orders



LAGGING:
retail sales, consumer debt



COINCIDENT:  Unemployment, Corporate profits

B.
Theories of business cycles:


1.
Sunspots


2.
Psychological


3.
Keynsian - exhaustion of demand for durables


4.
Long-run



A.
Malthus



B.
Waves of Innovation (Schumpeter)




I.
New markets, new raw materials




II.
Change in tech, long-term adjustment


5.
Marxist:



A.
Recession = cut in wages -> drop in demand-> further 



decline - finally crisis

Lecture 8- Beginning of Keynsian economics

A.
Demand Management


1.
Ignores supply side of economy



A.
Argued:  At low levels of output, demand controls level of 


GDP



B.
Use:  AE = C+I+G+(X-M)


2.
Most important component = consumption



A.
Determined by disposable Y



B.
Diagram: C v. Disp. Income


C.
Above 45 degrees = dissavings




Below 45 degrees = savings



D.
Note positive intercept (why?)


3.
To illustrate, look at data:


   Y(disp)
 C 
  S

APC
APS
MPC
MPS



0
200
-200

----
-----
-----
-----


      500
650
-150

1.3
-0.3
 0.9
 0.1



    1000       1100
-100

1.1
-0.1


    1500       1550
  -50

1.03   -.03


    2000       2000
     0

1.0       0


    2500       2450
   50

.98
.02


    3000       2900
 100

.97
.03


Define:
APC, APS, MPC, MPS


Note:

APC+APS = 1




MPC+ MPS =1

A.
Most important are marginals (slope of consumption line)


1.
Derive Savings function from this:





GRAPH

Lecture 8-

A. 
Second example of consumption/savings data:


Y(disp)
  C
  S

APS

APC
MPS
MPC


      0

2000
-2000

  ----

-----
------
------


1000

2600
-1600

  -8/5

13/5
 0.4
 0.6


2000

3200
-1200

 -3/5

8/5


3000

3800
  -800

 -4/15 
19/15


4000

4400
  -400

 -1/10  
11/10


5000

5000
    0

    0 
  
   1


6000

5600     400

   1/15

14/15

B.
Other determinants of Consumption:


1.
Wealth


2.
Stocks of goods


3.
Expectations (prices)

C.
Other components of AE


1.
Investment (gross versus net)



A.
Components - plant and equipment




+inventories (why critical)



B.
Why investment carried out:




1.
Change in technology, maintain capital stock, 




expectations of a rise in demand



C.
Interest rates versus investment:




1.
Inverse relationship (graph):




2.
Example:





Project

Rate of Return





1  ($20,000)


6%





2  ($15,000)


8%





3  ($30,000)


12%





4  ($40,000)


10%





@ r = 7%, I = $85,000





@ r = 9%, I = $70,000





@ r = 11%, I = $30,000



D.
I is not a function of Y: (autonomous)




Multi-year process:




Ex. 1997, see increased demand for bottled water




Start plant in 2000, after 3 years of planning




Finish plant in 2001, just in time for economic downturn




Investment high in 2000 and 2001, but based on demand 



in 1997.

Lecture 9:

A.
Final component of GDP:


1.
Government spending - ONLY final purchases, not transfers



(military, Medicaid, Medicare, Education benefits, etc, Housing)


2.
Assume autonomous:  G set by congress and president, not by 


GDP.

B.
Summary so far:



GDP = C + mpcY + I + G

C.
Add external sector:


1.
Exports and Imports



(not very critical in % to U.S., but causing a significant 



economic headache at present)


2.
Imports = kdkdk% of GDP



Exports = asl;dkfj% of GDP


3.
Imports - induced, exports - exogenous



(equation:
M = M + mY)



A.
Relate to current trade deficit

D.
Drop external sector - sum up graph:

AE/45 degree diagram (C+I+G)


Explain:
Autonomous spending, equilibrium GDP, etc.

Lecture 10-

A.
Equilibrium GDP (drop G and T for moment):








   Change in


Employment
    GDP     C      I
   AE     Inventories
  S


    500,000
     100     115    5     120         -20

-15


    600,000
     150     155    5     160         -10                   -5


    700,000  
     200     195    5     200            0

   5


    800,000
     250     235    5     240          10

 15


    900,000
     300     275    5     280
         20 

 25


---------------------------------------------------------------------------

B.
Explanation:


Change in inventories = Y - C - I





  S = Y - C





AE = C + I



-Change in inventories = 0 at equilibrium:





Y = C + I





Y - C = I





   S   =  I


1. 
Disequilibrium: 
Y not equal to AE



A.
Graph:  (AE v Y)



B.
When Y greater than AE, inventories up, firms cut 




production



C.
When Y less than AE, inventories down, firms raise 



production



Graph (Y v. AE)



D.
Discussion:  if inadequate AE leads to falling Y, how 



might government address this??

C.
Alternative approach, S = I


1,
S = source, I = use


2.
Graphic:  S v. I v. Change in inventories


3.
Show equilibrium:

D.
 


Lecture 11:

A.
Multiplier:  Change in Y much greater than change in G:


1.
Multiplier effect


2.
Rounds of expenditures:



A.
suppose I find $100 bill in my sock drawer:




1.
Spend on $100 coat




2.
MPC = 0.9




3.
Rounds = $100, $90, $81, $72.90, $65.70




4.
Etc., total affect = $1000



B.
Do two more examples:




MPC = 0.8, initial expenditure = 200




MPC = 0.75, initial expenditure = 500



C.
 End result, multiplier = 1/(1=mpc)




1.
Note:  since mps = (1-mpc), multiplier also =





1/(mps)



D.
Significance:




1.
Let GDP = $13 trillion





Full employment GDP = $13.6 trillion





GAP = $600 Billion




2.
Govt does not have this….but if multiplier correct, 




only needs a piece of this.





A.
if MPC = .95, multiplier = 20





B.
Change in G = $30 billion



E.
Do graphically (AE/45 degree diagram)

Problem for class to work on:
mpc = 0.8, GDP = $5 trillion, F.E. GDP = 





$5.2 trillion

B.
In S = I diagram:





C = 400 + 0.9Y





I = 500


1.
S = Y - C = -400+0.1Y


2.
I = S -> 500 = -400 +0.1*Y





0.1Y = 900 -> Y =9000

Lecture 12:

C.
Paradox of Thrift-


1.
“attempts by individuals to increase savings will not work, and 


will reduce output and employment”



A.
Graph (S v. I)



B.
Explanation:  propensity to save up -> C down-> income 



down-> depressed savings




(discussion - why might this be true in a depression 




economy?)\

D.
Fiscal Policy and equilibrium GDP:


1.
Budget - balanced or deficit or surplus


2.
Fiscal Policy - spending and taxation of govt


3.
Discretionary v. no discretionary


4.
Example:


  Y
 C 
  S 
 I    AE (C+I)
G
        AE+G


300   
320
-20
10
330

10

340



350   
360
-10
10
370

10

380


400
400
  0
10
410

10

420


450
440
 10
10
450*

10

460


500
480
 20
10
490

10

500*


550
520
 30
10
530

10

540


Without G, Y = 450


With G, Y = 500


Change in G = 10, change in Y = 50  QED


5.
Draw AE/45 degree diagram with above numbers


6.
NOTE:  S no longer = I



A.
now, I + G = S + T  (uses = sources)




20 + 0 = 10 + 10

Lecture 13:


7.
Add taxes: (T=10)

Y
Yd
C
  S
 I 
G
AE


300
290  320
-30
10
10
340

350
340  360    
-20
10
10
380

400
390  400
-10
10
10
420

450
440  440
  0
10
10
460

500    490  480
 10
10
10
500*

550    540  520
 20
10
10
540

600    590  560
 30
10
10
600




(I + G) = (S + T)

A.
Tax multiplier:


1.
Different then spending multiplier:



(1st round is reduced by MPS)


2.
Spending: $100->90->81->72.90



Taxation:  $90->$81->$72.90



A.
multiplier = (MPC)/(1-MPC)


3.
Balanced budget:


4.
1/(1-MPC) + (-MPC)/(1-MPC) = (1-MPC)/(1-MPC) = 1



A. do example

Lecture 14:

B.
 Non-discretionary policy:


1. 
No action of legislature or president needed:


2.
Best example:  progressive income tax



A.
As GDP down, tax rate down






(family of four)




Income
Taxes Paid




$20,000
   3,000*0.30 = $900  (4.5%)




$18,000
   1,000*0.30 = $300  (1.7%)




-cut in tax rate helps offset business cycle




(use to explain why deficits reappeared in 2001)



B.
Corporate taxes - disappear during recession



C.
Spending side:  Unemployment compensation, social 



security

C.
Supply-side policies (basis of Reagonomics):


1.
High tax rates may strangle economy:



A.
UK inheritance tax example



B.
US rates prior to tax reform



C.
Draw Laffer Curve


2.
Transfer payments may reduce work effort


3.
Also use policies like investment tax credits

D.
Problem - outcome long-term, political environment short-term


1.
Talk about Stockman and Reagonomics

E. Criticisms of Keynsian Model:


1.
Ignores monetary side - may have been OK in great depression;  


clearly not OK now.


2.
Ignores institutional constraints:



A.
Lags (recognition, policy, implementation)




-show on business cycle



B.
example from 1981 recession with 5 cent per gallon tax



C.
Ask class - why not use automatic stabilizers?


3.
What about balanced-budget amendment?



A.
Yearly, over business cycle, etc.



B. 
Problems with each

<<<Section III>>>>>  Monetary policy - Lecture 15

A.
Functions of money (bring in stuff from mint):


1.
Med of exchange, store of value, measure of relative value


2.
Two types - intrinsic value and Fiat



A.
Examples of each


3.
Gresham’s Law:
Bad money drives out good



A.
$5 coin 
= 1 oz. Silver






= 1/80 oz. Of gold



B.
Price of gold down to $380




1.
Coin now = 380/80 = $4.75



C.
hoard silver, spend gold, money in circulation does not 



rise.


4.
Definitions of money:



A.
M1 = C + DD



B.
M2 = M1 + savings accts + small CDs + MMMF + 




MMDA + Euromoney accts + ……….



C.
M3 = M2 + large Cds



D.
When Fed targets money, what do we mean by that?

B.
How is Ms determined:


1.
Action of Fed and banks



A.
Fractional reserve system (define - only % of DDs kept on 


hand)



B.
If fraction = 10%, deposit of $100 results in $10 in 




reserves and $90 in loans


2.
How system works - Use A/L sheets to illustrate:




Assets = Loans, reserves, securities




Liabilities = Deposits and equity


3.
Simplified balance sheet approach:



Assets

Liabilities



-----------------------------------



Reserves
: Deposits



Loans

:





:


4.
For example above:





A

L




      --------------------------



Reserves $10
:  DD  $100



Loans $90

:





Change in Ms = 100





(2)





A

L




    ----------------------------





R 10
:  DD 90





L 90
:




Change in Ms = 100 + 90



Do next four banks


5.
Overall -> change in Ms = initial change * 1/reserve ratio



= 1,000



A.
Called potential money multiplier -




1.
Banks may hold excess reserves, making process 




less effective.

Lecture 16:

A.
Do 2nd example of A/L approach and change in Ms

B.
Federal Reserve:


1.
Show $ bill (location of Fed)


2.
Comprised of Federal Reserve Board, FOMC (composition)



12 Federal Reserve banks, and member banks


3.
Responsibilities-



A.
Safety of system (lender of last resort, regulator)



B.
management of money supply



C.
Management of value of the $


4.
Very different than other central banks around world-



A.
 much more powerful than all but European Central Bank




(talk about euro)

B.
What NY Fed does:


-open-market room, gold vault, currency exchange room

C.
Tools Fed can use to manipulate money supply:


-History:



-RRR (original reason for having)



-Discount Policy 



-Open-market operations


1.
RRR-original tool of Fed



A.
very powerful:




RRR down -> Ms up




RRR up -> Ms down


2.
Discount policy



A.
Lender of last resort function




1.
Discount rate up -> discourages borrowing





Discount rate down-> encourages borrowing


3.
OMO - buying and selling of bonds




A.
Buy bonds ->  Ms up





Sell bonds ->  Ms down




B.
How discovered (1920s)?




C.
Why T-bills and T-bonds?


<<this is key tool of Fed - can manage Ms without major ups and 
downs>>>>>>

Lecture 17-

A.
Fed policy in the A-L sheet framework: Let RRR =.05


1.
Buy $1000 bond from non-banking public (mechanism)


2.


A

L




---------------------------------




+1000 R
: +1000 DD


3.
Step 2:





A

L




---------------------------------




     +50 R
:  +1000 DD




    +950 L
:


4.
Loan then goes to next bank in system as DD



Change in Ms = 1000+950 = 1950 for first two banks




-continues as in examples above


5.
Although all tools available to Fed, only really uses OMO, 


except in emergencies

B.
Monetary theory and policy:


1.
Describes how changes in Ms affect economy:


2.
First look at motives for holding money:



A.
Transaction, sensitive to y



B.
Precautionary, sensitive to y



C.
Speculative, sensitive to r




1.
Bonds v. money




2.
At high r - hold only bonds





At low r - hold only money

(example:  $1000 bond with 5% coupon - $50 per year - r up to 10%, bond price down to $500)




3.
Therefore, at low r, bonds very risky.

C.
Two different ways to examine money - 


1.
Classical/Monetarist (true) view


2.
Monetary transmission mechanism (Keysian)

D.
Quantity theory of money:



MV = PY   (explain)

Lecture 18:

A.
Different versions of MV= PY

